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AQA AS Business Studies

6 People in business

a Labour productivity = quantity of output per time period ÷ number of employees. 
(2 marks — only award these marks if a calculation is not undertaken.)

The previous year: 14,000 sheds ÷ 50 employees (1 mark) = 280 sheds (1 mark)

Last year: 15,000 ÷ 50 employees (1 mark) = 300 sheds (1 mark)

The difference = 300 – 208 (1 mark) = 20 sheds (1 mark)

b Answers may include the following:

· The company may receive a further increase in its productivity rates (as seen over the past year).

· The improvement in employee performance (which Ian wants to see) may help to make his company profitable once again.

· This could be money well invested because the company has low labour turnover and may benefit from improved skills (and productivity) for some time.

	Level 5
	Good analysis and good application
	8–9 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	6–7 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


c Answers may include the following:

· No, because his employees are relatively well paid. The problems may lie elsewhere.

· No because the financial position of the company is declining and it cannot afford to pay more out in the form of wages.

· Yes, because the piece rate plan is linked to improvements in quality, which is needed at this time.

· Yes, the good rates of pay are one reason why his labour turnover is so low.

	Level 5
	Good analysis and good application
	9–10 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	7–8 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5–6 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


Evaluation: this may relate to the precise nature of the system to be introduced and whether it is likely to increase the company’s labour costs. 

	E3
	Judgement with well supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	4–5 marks

	E2
	Judgement with limited attempt at justification. Evidence of a logical structure and some use of technical terms. 
	2–3 marks

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1 mark
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